TabsmuyHOEe YMHOXKEHHE
1 JeJIeHUe.

YMHOXeHUue yucsia 2.
YMHOKeHUue Ha 2.



YuunTenb HayarnbHbIX KIaccoB
MAQY COLL Ne1 O 3apeyHbin
BecHuHa EneHa BanepbeBHa



KnaccHasi paborTa.

Ne 1.
2°0+2=2- 28+2=2-
2/ +2=2- 29+2=2-
210-2=2- 2 —2=2+4

28—-2=2- 2 +2=2+10



Neo 1.

2°060+2=2-7 28+2=2-
2/ +2=2- 29+2=2-
2°10-2=2- 2 —2=2+4

28—-2=2- 2 +2=2+10



2:8+2=2.
2:9+2=2.
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—2=2e4
+2=210



2:8+2=2.
2:9+2=2.
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—2=2e4
+2=210



2:8+2=2.
2:9+2=2.
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—2=2e4
+2=210



283+2=2+9
29+2=2-

2 —2=2°4
2 +2=2+10



Neo 1.

283+2=2+9
2°9+2=2+10
2 —2=2°4

2 +2=2+10
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Neo 2.

2°83+2>06+2
2°83+2=9¢2

2°8+2>72-2

[*2—-2=06¢°2
[*2—-2<92

[*e2—-2<2+8+2



bbino — ?
OTpe3ann—8 oM 1 6 am
OcTtanocb — 16 oM

1) 8+6 =14 (gm)

2) 14+ 16 =30 (gm)
OTBeT: 30 4eunmMeTpoB.

Ne 3.

bbino — 30 am
OTtpesanm—-8amMn ?
OcTtanocb — 16 oM
1) 30-16 =14 (gm)
2) 14 -8 =06 (gm)
OTBeT: 6 4EeLUMMETPOB



bbino — 30 am
OTpe3ann—7?un 6 gm
OcTtanocb — 16 oM
1) 30-16 =14 (gm)
2) 14 -6 =8 (gm)

OTBeT: 8 4EeLUMMETPOB.

Ne 3.

bbino — 30 am
OTpe3ann—8 oM 1 6 am
OcTtanocb — ?

1) 8+6 =14 (gm)

2) 30-14 =16 (gm)
OTBeT: 16 geunmeTpoB



Ne 4.

X+ 27 =30 y—8=20
X =30-27 y=20+38
X=3 y =28
3+27 =30 28 -8 =20
30 =30 20 =20

64 — x = 64

X =04 — 064

Xx=0

64 — 0 =064
64 = 64



Ne 5.




Ne 5.
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Ne 5.
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Ne 5.

4 /
3 | 9
8 | 6
9 | 6
6 | 9
2 /
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3agaHue «[1poBepb cebdbsiy.

C: - :2’:24. 2:2::: 2= 18(”)
’ OTBeT: 18 NUTPOB.



[lomaluHee 3agaHue:

°y.C. 81 Ne 7.
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